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1. The reaction of benzene with (CHz )3 CCHy Cl in the presence of anhydrous aluminum chloride
produces principally which of these?
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(A) CHCCHa)s (B) CHACHpCHy (C) CHCH.CHICHy), (l)) (CH3);=CCH,CHy () HsC-CHCH,CH,CHy

2. Which compound would you not expect to be aromatic?
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3. What, in general, is the order of decreasing reactivity of these carbonyl compounds towards

nucleophilic reagents?
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A1>1>V> 1>V
(DYU>1>V> I > 1V

B)V>HUI>1>1>1V
EB)HI>V>1V>1>1

(O)IV>1I>1>T>V

4. Which compound does not possess a plane of symmetry?
OH
1A & H H
OH

5. The compounds ethane, ¢thene, and ethyne exhibit this order of increasing acidity:

OH OH (B)

H

(A) Ethyne <ethene < ethane (B) Ethene < ethyne < ethane (C) Ethane < ethyne < ethene
(D) Ethene < ethane <ethyne (E) Ethane < ethene < ethyne
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